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DATASETS- CIFAR10  AND MNIST

CONVOLUTION LAYER

MAXPOOLING

ACTIVATION FUNCTIONS

FULLY CONNECTED LAYER

SOFTMAX OUTPUT



CIFAR -10

10 labels 

50,000training images

each image is 32x32x3

10,000 test images.

Dataset: CIFAR-10 
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Features:

Flatten

784- dim 
vector

MNIST Dataset
(ModifiedNational Institute of Standards and Technologydatabase)

https://en.wikipedia.org/wiki/National_Institute_of_Standards_and_Technology


If we have 6 5x5 filters, weôll get 6 separate activation map.

We stack these up to get a new image of size 28x28x6
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These are the network 

parameters to be learned.

Each filter detects a 

small pattern (3 x 3). 
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Convolution
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Repeat this for each filter
stride=1

Two 4 x 4 images

Forming 2 x 4 x 4 matrix

Feature

Map


